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QUESTION 1

Which of the following regarding logging architecture in Nokia CMM is FALSE?
A. Log files can be retrieved under the "/data-logs" folder.

B. Different log files are generated automatically in the system.

C. Logs are generated based on log events.

D. Details about each log can be displayed using the verbose (-v) flag.

Correct Answer: A

QUESTION 2

What information does eNodeB use to ensure MME load balancing during MME selection?
A. MME relative capacity value received from each MME in the pool

B. MME capacity value received from the UE attach request message

C. MME capacity value from the UE\\'s subscription data received from the HSS

D. MME relative capacity value calculated by each MME based on the current network load

Correct Answer: A

QUESTION 3
The DNS NAPTR records shown in the exhibit are returned to the MME during SGW/PGW selection.

If gateway selection mode 1 is used, which SGW/PGW pair is selected by the MME?

Jrae Frefere - d(] - & Replace =
200 | 800 ‘a’ x-3gpp-sgw:x-s11-gtp | topon.eth10.sgw01.pool1.nodes.3gppnetwork.or
300 500 ‘a’ X-3gpp-sgw:x-s11-gtp | topon.eth10.sgw02.pool2.nodes.3gppnetwork.org
.. e Lratarg & (] - - - enla = =
200 | 500 ‘a X-3gpp-pgw:x-s5-gtp | topon.eth5.pgw01.pool2.nodes.3gppnetwork.org
300 800 “‘a’ X-3gpp-pgw:x-s5-gtp | topon.eth6.pgw02.pool1.nodes.3gppnetwork.org

A. sgw01 and pgw01
B. sgw01 and pgw02

C. sgw02 and pgw01
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D. sgw02 and pgw02

Correct Answer: B

QUESTION 4
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Which of the following is NOT an EPS session management (ESM) function performed by MME?

A. Support default bearer creation, modification, and deletion

B. Support dedicated bearer creation, modification, and deletion

C. Inform other network elements about subscription data changes in HSS
D. Perform network element selection

Correct Answer: A

QUESTION 5

Which of the following is NOT a benefit of S1-Flex mechanism?
A. Minimizes MME relocation in case of UE mobility

B. Minimizes the number of MMESs required in a network

C. Provides MME load balancing

D. Provides MME geographical resilience

Correct Answer: D
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